S LAPPSET.

MOOMIN

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

DATE: 29.9.2020

MPO0203




8 LAPPSET.

MP0203

MOOMIN
DATE: 24.9.2020
911484 |pcs 709961 PCS 709962 |pcs 709963 |pcs 709964 |pcs 709967 |pcs
1 3 2
15x1500x1530 90x85x1500 32x95x1440 32x95x1290 45x120x1200 50x100x1290
911483 PCS 911485 PCS 900240 |pcs 900348 |pcs 901302 |pcs 902232 |pcs
2 56 4 12 12
Q\ 5
15x1500x1530 @8x70 M8x30 ©20/10.5x2 M10x55
903093 |pcs 904297 |pcs 904336 |pcs 905090 |pcs 905115 |pcs 909256 |pcs
6 12 12 ‘ 12 l 12 16
?8x90 Size L, Green @6x20 @45 @30 @16 /8.4x1.6
909521 |pcs 909633 |pcs 909868 |pcs 980123 |pcs 980128 |pcs 980151 PCS
4 - 20 16 20 4 4
 I—  I— (“’0  I—  I—  I—  —
M8 M8x50 @7x60 @7x40 216 /8.4
980161 PCS PCS PCS PCS PCS PCS
12
S
=
M10
PCS PCS PCS PCS PCS PCS
© I I I I I I
=
§ PCS PCS PCS PCS PCS PCS
5 il il il il il il
© L L L i i —
2
Q|
S
5
s i i i i i —
5
O




#® LAPPSET.

MOOMIN

MP0203

DATE:

29.9.2020 4

Copyright Lappset Group Ltd

_ EN/AS Impact Area 17.2 m

- Falling Space 17.2 m2

2

/
N

900

96

™
D/




8 LAPPSET. MP0203
MOOMIN DATE:  29.9.2020 4A
@) O
=)

Copyright Lappset Group Ltd




#® LAPPSET.

MOOMIN

MP0203

DATE: 29.9.2020

EE— EN/AS Impact Area 17.2 m2

- Falling Space 17.2 m2
Max Falling Height 1300 mm

4500

4250

Copyright Lappset Group Ltd

1260




#® LAPPSET.

MOOMIN

MP0203

DATE: 29.9.2020

SA

+1470

+160

+60
+0

Copyright Lappset Group Ltd




% LAPPSET.

MOOMIN

MP0203

DATE:

29.9.2020

911485
709961

911483
X2

709963
X2

911484

904297
x12
709962
X2

Copyright Lappset Group Ltd

709964
x12
909521

x4




Copyright Lappset Group Ltd

8 LAPPSET. MP0203
MOOMIN DATE:  29.9.2020 6A
DET 1 DET 2

9092756

/0996 /

909655

Pre drill holes also for
floor planks if necessary

DET 3

DET 5

i o /NN @ X

905095
*Note

100

DET 6

66

905095
*note

ﬂ




8% LAPPSET. MP0203
MOOMIN DATE:  29.9.2020 GB
DET 7 DET 8
-
*Note 7
— O
&!"J ™
.
=
980128
~ 980125 B
DET 9 “note

980125

Use 3x Screws (903093) evenly to attach
the beam 709961 from beneath

*note 2

the plates have groove on otherside and
chamfer on otherside to make a smooth
joint

Copyright Lappset Group Ltd




% LAPPSET.

FINNO DATE:

P14221

20.3.2017 2(2)

copyrignt 1998 Lappset Group Ltd

HUOM!

vaihto.
Sddtomahdollisuus (90°,W 80",270")“

Jos asennetun otepalan suuntaa— tai
paikkaa halutaan muuttaa.

lrrota otepalan kiinnityspultti ja
otepala, kadnnad tai vaihda.

Siirrd tarvittaessa tappi oikeaan
paikoilleen ja lopuksi kiinnitd
muovitulppa @30 paikoilleen kaikkiin
otekokoonpanoihin.

NOTE:

Grip positions and angles
are adjustable (90°,180°270°).

Grip can be repositioned by removing
the fastening bolt and pulling the
grip off.

Securing pin can be repositioned
when angle is changed.

After the parts are reassembled.
Finish the assembly by fastening the

cover plugs (@30).

@30 (905115)

Upotusreijdt plug

Holes

Tappi
Pin

Otepala
Crip

M10x55

Kadaanto suunnat
Angle of rotation
907, 1807 270°




#® LAPPSET.

MOOMIN

MP0203

DATE:

12.8.2020

Max falling height

Copyright Lappset Group Ltd




8% LAPPSET.

Impact Area EN 1176 REF:

Copyright Lappset Group Ltd

DATE: 20.2.2018

4x

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

T Ay vy 454 a4 B <4 s a4

saa 0300 237 439 40 eml e Ly
AR 44. .44 24 i

Mmi%
h <3000 Loose fill material
E.g. e T
sand/gravel 0,25...8 mm D60/D10<3,0 | = o ]
Woodchips 5...30 mm : ae Ol
bark 20...80 mm < . ) :
e PR S R
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al //ﬁ‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m P S

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

909521

FINNO DATE:  15.6.2003 1(1)
(1) 909511 [pes|(2) 909519 [pcs|
1
(3) 909637 |pes|(4) 909638 [Pcs|
4 8 |
1@)
= &
Mo | | 201105 | |
(5) 909639 |pes| PS|
4 -
DET 1 i - -
M10x25
) P
) P
s s
DET 1 — -
909511 ] -
10x25

@20

909519

PCS

PCS




	MP0203 1
	MP0203 2
	MP0203 3
	MP0203 4
	MP0203 5
	MP0203 6
	MP0203 7
	MP0203 8
	MP0203 13



